CAT.No.2225

KONAN

a-rr

~ y
PDF #4057 —404S n—Kig — I ; yu yg

URL=htips://www.

konan-em.com/ CPE91

CP691

Long-stroke cylinders

AAZOTICBEINTWEWI T AD)-X
ICDEELTIE, CAT.N0.2222[NE=T 1 —T 1
MIT7I) 4 Hh50TESRBEN,

PEEHAR SR




EX hﬂ—ﬁﬁ,’ BEFIUY

BUEHEMEEEFRICZZ 5 NE,
j_j-y@I7:/Uy§‘o

—_— - - - - - - - = =

HEFRSHR (A4

|69dD

s
i3
i
B
I 5




BICRAND—7%Z0gEICULTE
NAIVA ARGBDREDNZL<H ) ET

-

. @80 x 40005 @ 180 X 42405

I3l 1]

@125 x 42005 @250 x 43005

*80 54

28382

#31.5d9.

max.17,

420 $4éo J0 70
23 - 23130
20, L | oo/5 a Zﬂg
mm= o S g@%‘_ﬁ 18
e ) =
_E =30k
[ 4 Py
- M26x1.5 G \ 4“5’
34
1589 _ §-HZT7XL5 ¢-#33

@ 160 x 42508

i 190 - 4385 190 11
\ 176,
7' 2-P13/4
2-922 |~

m— ,‘}Jgr:-ﬁ_,-

Lus Ne

240

—— 280

N

KiahllE—pITI,

BRI CEE (X U THILEIEEC I DT,

CHEEXBELE I,




% iﬁ‘t ﬁ RZX bO—-U =R

xFREANEXRA KD =2

HHEAZ NO—-UF (BT By NS
Max. stroke Max. stroke with tie-rod (Reinforcing ring)
BT mm BT : o
B B | FA | FB | ca CcB TC o B | FA
¢ 40 700 ¢ 40 701 ~ 900
¢ 50 800 ¢ 50 801 ~ 1,200
¢ 63 800 ¢ 63 801 ~ 1,200
¢ 80 1,000 ¢ 80 1,001 ~ 1,600
¢ 100 1,000 ¢ 100 1,001 ~ 1,600
¢ 125 1,400 900 ¢ 125 1,401 ~ 1,600
¢ 140 1,400 1,200 ¢ 140 1,401 ~ 1,700
¢ 160 1,400 1,000 ¢ 160 1,401 ~ 1,700
¢ 180 1,800 1,400 ¢ 180 1,801 ~ 2,000
¢ 200 1,800 1,200 ¢ 200 1,801 ~ 2,000
¢ 220 2,100 1,500 ¢ 220 2,101 ~ 2,400
¢ 250 2,100 1,400 ¢ 250 2,101 ~ 2,400

) ERELSROIFEFE  FB. CA. CB. TC 22w\
X, ATy MR > 7R EEL TBY ERAD
TIEELES N,

40y Mgy >V IiEE

Dimension of tie-rod reinforcing ring.

(#18] R

G A-AKRFRX
A S -
1T
] . _ _ __ [ af _ i} i} _ .
N
|_ — — = — — — — —_
AV
A
BT o
222" 540 | ¢ 50 | $63 | ¢80 | 100| ¢ 125| ¢ 140| ¢ 160| ¢ 180| ¢ 200| ¢ 220| ¢ 250
P 58 70 84 | 104 | 124 | 160 | 180 | 200 | 220 | 240 | 270 | 300
p2 65 80 | 100 | 112 | 136 | 170 | 180 | 200 | 224 | 250 | 290 | 315
G 22 28 28 32 37 40 45 45 50 50 70 70




RZ hO-7
%3G

4
I:Pﬂgl

RA bO-7 - BFH
Long-stroke cylinders (standard) CP691
A MO-7 - %
long-stroke cylindenri:%(?:/t-resistant) CP691 H
JIS &2 & JIS Symbol

CPlI BEN=XL T, RAMT=TH2 )25, -
BEHIEE T35 % SITEMINES £ 70 ==
FRIED Y 2 ITT

Designed based on CP61 cylinders for long-stroke application,

CP691 series boast high rigidity with excellent reliability and
proven performance.

ﬁ: ﬁ Specification

Working pressure

AT (g1
xge Long-stroke cylinders (standard) | long-stroke cylinders (heat-resistant)
CP691 CP691H
f£E &8 #H R # 8 W
Operation type Double acting
#a o H B (NS s T )
Lubrication Necessary
Fa1—-—TAR ~
Bore size ¢ 40 250
& B E 7 0.2~ 1.0MPa

A hO—VEFAZ

Stroke tolerances

541,000 ) /81,001 mLl k)
Under 1,000mm Above 1,000mm

EX bR E
Piston speed

50 ~ 500mm /s

B L & =%

Tread tolerance

JIS (6H. 68g)

A A

WwI7 Ty >3

Cushion Both ends (Air cushion)
it B
Proof pressure 1.5MPa
AR -5~ 60C 5~ 120°C

Ambient temp
W) 1. SCUTTOIMHMOBEE, FEhoKG2ERE L, dEORV L) THEELES v,

2. RPN T TR OY AR R THE S v,
Notes 1.The air must be dried the ambient temperature may drop below 5°C to prevent problems due to freezing.
2.Please contact us non-standard applications which are not covered by above specifications.

BB 0D & EICD WV T Designation of Port location

OILE 1L 7 v a N TOMEIL, BIMETEMIREN T2 b OPHIHEL 20 ) $7
E72, ZNE OGO ENERARZZ 2 SISO LT 90° £7213 180° L% 5 53
AR & L THE £ 9

O E TDRLEDIREIIHHOMNFLE T L72AT > TL2ZE W,

® Standard location of piping ports and cushions are shown in the dimension drawing of each models.
Configurations rotated by 90° or 180° from the standard as keeping the samerelative locations of ports
are deemed as the same and as the standard.

® |dentify the location of piping ports and cushions by the surface numbers shown in the illustrate at right.




CP691

CA -
2 & B8 B -cnviemlL o raobtme e o A s,

- - N < NG
RhEE XHe8 Fa1—THE Ztha—7

Model code

CP691

HIN— Mounting Style Bore size Stroke
Type Dust cover
’ (1 PRI Type‘ ’ OFFEH/N— Dust cover
£ K W mEA 5 U N
Standard type No entry Without
fit # 7 H soO07L > (1E%) A
Heat resistant type CHLOROPRENE (standard)
ME RUT7IRIAX B
Material POLYAMIDE CLOTH
TIVIFAXR7AX D
ALUMINIZED CLOTH
] ) BEEEA N —EORY L 18 =Y RS2 E v,
’ @ iﬁﬁﬂ Mounting style Please refer to p.18 for the structure.
X B 2 8 5 L N
Without
g A @m 7 - ~
Foot ) LB
0By KA 7 3 > 2 ® —) i
Rod end flange i} FA ’ e Fa-TRE Bore size
Cap end flange 50mn 50
— W 7 v E X ®
EAT Single clevis - CA 63mm 63
SEeY (W L EXBE M| can 80mn 80
Single clevis /joint pin 100mm 100
— b7 v E 2 W CB
Double clevis 125mm 125
“— 7 LrEXIWE > CBA 140mm 140
Double clevis /joint pin
S 3 Z 160mm 160
k 7 s 7 -~ i TC
Trunnion 180mm 180
— W7 LEXWBET v CAD 200mm 200
Single clevis /rolled bushing 250 220
—WILVEAMBET Y V2|  caB il
Single clevis /lubricant bushing 250mm 250
— W7 LEZXWESP T v
Single clevis /éP bushing CAP
— 7L E Xk FEHE
Single clevis /CARB/ON STEEL CAS
o LrEXHET YD
lit",xﬁﬂﬁ? Double clevis /rojlled bushing cBb @ (;m(m'll; 'If:l X'—'C’ZE'T'< &) (Please order it by a mSmt ru<?1ll(t()a
Mie? [ ZWovEamE—-TL-bEf | ok SRS
Double clevis /keeper plate /joint pin Q@LEIREA PO — 27 1F, Fa—THERLESEESRICLD
SWIVERRE-I-TV=b € 7YRZy I | oBKG Kb Ed. .
Double clevis /keeper plate /joint pin /grease nipple FHIEAR—TVORARA IO — 7 FE TBBLIZE N,
Ty L E XK FHE CBS ® Please refer to p.4 for details.
Double clevis /CARBON STEEL
(N A= =
Trunnion /CARB/ON STEEL TCS
T = B (X X))
Trunnion /female screw /steel TFS
(xBeacL+BBRY T N7
wwH@eal) > U Basic + Reinforcing ring
ff pe 8+ 8 Y > 7| g7
R V¥¢I)t|t1:n Foot + Reinforcing ring
einforci .
ring g FAE B +# @ 1) > J FAT
Rod end flange + Reinforcing ring

i) —HREETELVLONHY 5,

PEOT IOV, CATNo2221 [Z7 3 ¥ & hyu s e B 728w,

Please refer to “Pneumatic Cylinders”catalogue.



ez ro—spzesEvuyy CP691

By REmel Ay 77y b oEED ECEDALE Y 25 2 1 EES)
Piston rod attachment Lock-nut T2kt Portposition YA} NesDZIE
Port bushing Cushion position Pressure vessel construction code
’ (6 ) mBANE o] Piston rod attachment‘ ’ OEREDME Port position‘
' /% € B & U fREEA Oy KAN— | Ay RAN—
Without No entry Rod flange Cap flange
Y Wy 1 (B) 5 (=)
Rod end clevis IBRNOAE 1 (Standard) 5 (Standard)
Y & ( v > ) Code of the position 2 6
B YN Rod end clevis /joint pin YA
Standard v 3 7
type I Vi 1
Rod end eye 4 8
I ®% ( E > ft ) IA ) B E 79 Y3 Y O EE, Al EEETE A,
Rod end eye /joint pin Cannot establish the plumbing and the position of the cushion in the same aspect.
YR (E>f) BESH| o
R/od end cle\<{s fjoint plrj /split pin ’ @ 2933 >0)f‘i|§ Cushion position ‘
Y &% 7 v ¥ a1 ft YD - - - -
Rod end clevis /rolled bushing Oy KA/N— Ny RAIN—=
YFx—X—TL— k- Eft YK Rod flange Cap flange
Rod end clevis /keeper plate /joint pin 1 5
YBx-—N=TL=pEVTYRZy T YKG *EZITO)TS'[E 2 (j=%) 6 (i=%)
Rod end clevis /keeper plate /joint pin /grease nipple Code of the position 2 (Standard) 6 (Standard)
/
’;\t‘ﬂ? ﬁj Y ® &k % @ % YS 3 7
ypp'g Rod clevis /CARBON STEEL
Y B # W E > E ® YE 4 8
Rod end clevis fixed by split pin gy g EL 9 9
I W % v v Y ! ﬁ' D Without
lisHrdielielicdlEElng #QOO RN LT 5.0:2-6) & 5 2HEOA, RARETT.
I B m 7 v > 2 fit 1 AT COERN D HHE1E. &ETRALTLEE Y,
Rod end eye /lubricant bushing 1B In case of standard position for both @ and @ ,the code is not necessary.
I %SPJ v ¥ 21 ft P E) BEE Yy Y a yOMEE FA-HICEEETEEEA, o
Rod end eye /SP bushing Cannot establish the plumbing and the position of the cushion in the same aspect.
) —HEETELZVWLONH) 5,
SO DT, CATNoZL [272 ) 2 T ) 710 a7 R B 1S  DE2BEABBDTIE Pressure vessel construction code
Please refer to “Pneumatic Cylinders’catalogue. _ —
IS HECA
Not apply No entry
sy o
AX (==}
Applicable V2
) 5 2 A AL G A IR M IR S R R ) £
7 - E
@0y Fyk Lock-nut | “RENBHRICHYUTIEEIY Y
Oy 2+ R L A F a2 — TJARE [mm] Z t@a—2 [mm]
Without No entry 160 1990 LI E
By 73y b 1EfR L EC 1572 BLE
1 lock-nut 200 933 LI
By o+ b2 @Eff L2 220 928 LLE
2 lock-nut 250 815 LI
) 2N OBETLE Y Mgt VoEERSIX, 1 EMNOEEF LT,
BHEAVEREEE A FEE TR 7280,
WE_REEHSHRRLRA LY (2
FLEEDEHEERB A DERIES ) o EAXER 2V ERET D
= D . BUEE X, FEESICHEDE. HEEARA SHEE/AE
@EEOT Y 1ER Port bushing | HEEARA ST L—BEORELRI T hIE, BES
ERS = 7ZIFES LTI E S E V. F/-EREE (EAEARL/-1% 1 F
Tyalkl 2N -
Without No entry LIRZ &1 1 B, ERORDBIEIC DV TOEEREEITEL
Tyt ZDFEREFERL. ThESFEMRIFLAUTNIE A S AN,
With E 1. AR OIBB D I
INT=DFE TR EE Eiiid
H) 7Yl 1Bk LOATT, 2 SR D OREREOR
This bush reduce the port size. e.g. from Rc3/8 to Rc1/4. 3. BERUFDIREOHR




CP691

CP691

- CP691H #3&[X

n 3B 1

| Fa1—TRFE: ¢40~63

@Oy O

i

Bzl E9,

]
Il . i . ozl
(L IZaN ) B |
M —oJ e
@ o
g 0
1
_ o R ,E
e = Ry CP691 | CP691H #a
T3 INIVTER 1A v K oA N = [ 1
2 |a v K & N — FEY ] 1
3 P HEF - T i 1
4 | =z oo ek 1
—— 5 =S = il 1
%‘ = 6 |[EX k> F v b =3 1
8 gy varyry LS 1
2 4 B v K (A 3 (£F:) 4
9 (TCx#fELlEa1ay K|,
4 4 @O v K (B e el L I H05E)
(Z DfOHRDIZE) —
(FE;\'FB~CA;CB iﬁﬂifv‘\o%ﬁl
10 |+ ) b e 3 Suaarpe ) 4
W 6o @B ZofoTL0EE) 5
(FA-FB-CA-CB XHRX05E
L S A A A T
Fry7NNT (By RAN—RIDH) G OROE R 5
14 | 27)>70—-LE> s 1
15 | 7 P P e SHEE 1
16 |7 18—y > 5 NBR FKM 1
17 |O v KUYy % > NBR FKM 1
18 | YUVEFa—THI Y b NBR FKM 2
19 [BEx bty x> NBR FKM 2
20 Oy KA R Ay b NBR FKM 1
22A | 7y ariyxr (A) NBR FKM 1
22B | 7y varisyx (B) NBR FKM 1
23A | 7w 3= — K i 2
23B | = — KNy ¥ > NBR [ FKM 2
23c | v v F v b LS 2
24A | F . v 7 H N — e 1
24C | I\ * J T TV LER 1
24D | /N % 25> L X4 1
24E | Fry INLTHRT Y b NBR [ FKM 1
24F | K — o a4 1
¥y ATy Rl » Z13—EU EORA MI—=2 T, 2O THRROD LB DH
AR AA b a—2 [4~8— | #ZBI2E,) 50 | &A 0y FMEY > 7 S]] IES




ex ro—swzesEvuyy CP691

|¥1—7WE:¢w

OXDID,

// ﬂ

BOOO»O®B®E® DB®EBO OB

/

Esve 3
T [ Vi
/jf ' 7 '—'
(I ) B AL 1
! ZAN) —
_U__‘ T T IU
G toal
g
"
@
- E. W& -
B e CP691 | CP691H el !
P EDA P I U R i !
2 @ v F H N — R 1
3 |[susaF - T "= 1
4 E 2 k > $H8% 1
= 5 X ~>Oow KR b3 1
4 N 6 |EX > F v b e 1
ag =
F 8 gy a>rl)ry b3 1
2 4 B8 v K (A LS (&%) 4
9 (TCERMAELREIAY K[
:'l— % 4 O v F @B e #E > THOBA)
(Z DIOHRXDHZE —
(FA-FB “CA-CB iﬁﬂ?iﬁ@%ﬁ
3D 330 08 (ZDROTROBE) 8
(FA-FB-CA-CB XHF/ADEE
T A - 1El7,ﬁl;)/\i§,’(&:<%l/l~ﬁiw 4
Fry NNV T (By RHAN—FIDOH) (ZDOFRDBE) 8
12 | # % I 4 =& L] 1
EREEEREE R 4
@p) 4 |5 % ¥ 5 = ] 4
15 | 7 ) 2 1 $HEE 1
@ 16 |7 45— U > J NBR FKM 1
FEEEEE NBR FKM 1
4D 18 | YULEF1-—THZLy b NBR FKM 2
19 [EX K>ty x> NBR FKM 2
4 20 Oy K# X4 v b NBR FKM 1
@ 22A | 7y vaiiNy x> (A) NBR FKM 1
A 22B | 4y aity%> (B) NBR FKM 1
23A | 7w 3= — K i 2
23B [ = — F /vy % > NBR [ FKM 2
23Cc | @ v 7 F v b LS 2
24B | F 1 v U H N — HEL 1
24C | I\ ES 7 7 TIVIZILER 1
24D | N\ S 27 L Rl 1
24E | Fry s \WT ARy b NBR [ FKM 1
24F | K — v x| 1
Xy ATy PR 7 IE—E EORA M O— 2T, hOTIRIROSD LI E1IDH
MR ET, . _
(TEHRIIRAA MO =2 [4 /=3 | DB X, 50 | 248y K@Y > J L] 13%




CP691

CP691 - CP691H

H

7N\

X

RN wE R

|91—7WE:¢mo

@i OBEP® D®

= L) F

{

= 7
Il ) B _ AT
I VAN
T T -
‘ﬁ‘ | - _\./ q
£ y |
@ s =l ! \
433
60
= - & -
B2 B AT reo I creoTm 58
N . . 1 ANy K H N — L3 1
7y g INVTER 7 = S 5 s o X ;
3 |y sFa—7J L= 1
4 E Z ~ P2 ek 1
5 E 2 k> Oy K S 1
6 E X N> F v b S 1
8 |4 vya>usy R34 1
%2 4 0O v K (A ] [€3iF) 4
9 (TexfwAE L s 1Ay K|
% 4 0 v K ® R%E BRY > THOBA)
(Z DOHXDIHE) —
(FA-FB-CA-CB I}%ﬂ?iﬁ@ﬁz%
10 |+ v b e @g%¢;A1;§5§<D) Sisadi
(Z DO HRDIHE) 8
(FA-FB-CA-CB XRIRDBS
monN oz ¥ H oz Es {/Egﬁgg%?@f) VaRY| 4
(Z DbOHRDIHE) 8
12 |4+ ¥ T 14 % [E3 ] 1
13 | # 4% T 14 42K b "3 4
14 | N % ¥ 4 x S 4
15 | 7 P > e AEE 1
16 |7 48—y >y NBR FKM 1
17 |y Ky vy % o NBR FKM 1
18 | YUL4F1-THZTy b NBR FKM 2
19 [EX b ivy x> NBR FKM 2
20 (B Yy R#AHRX & v b NBR FKM 1
22A | Ty ariNyxr (A) NBR FKM 1
22B | 4y iaityx> (B) NBR FKM 1
23A | Vv ar=— K g 2
23B | = — K /Xy x> NBR [ FKM 2
23c | v 7 F v b bS] 2
24B | F = v U H N — HEE 1
24C | N\ S 7 g7 TIVIZILES 1
24D | N % 252 L 238 1
24E | FryIRNLTHRF y b NBR [ FKM 1
24F | K - b (£ 1048 1
Xy ATy FHERY ¥ 73— EOEA FO—2 T, SO THROHHH DA
50 | 4140y K#EY > 7 s 1%

R zLEd,
CHPEABIRRA b= [4 =] 2 TBHETEE )




ez ro—spzesEvuyy CP691

|§1—7WE:¢W&~%0

®@Od OO

ONIVIONONG)

© ®B

4

-

s
7 ]

|

@ (®

AW

—o=_|

X

®

Ty g INILTER

23E) (231) (23D) (23F) (23B) (23H

23G

23A

¥y ay KR %E?EU/7 I EOEA P a—2 T, HOTHIR
D& LHENZDBFIR L T
(i?ﬂf;ﬁ#”ﬁ“kx hO—2 [4_=2 ] 2ITBILEE )

23C

N

I®

- . # E HE
#5 T CP691 | CP691H §125~20] $250
1 B AN L 1
2 =] K # N = L] 1
3 UL HEFa1—T b 1
4 (= 2 k > $He% 1
5 E X h> Oy K =35 1
6 EZX N> F v b LS 1
8 |vvyva>ry>ry &3] 1
2 4 O v K (A |((&FRX) L5t 4
9 vrey —
5 14 8y K@ JERPAELEEI0IE hrg 4
(FA-FBZHHANBE
BL. FARTRM4 Oy K R 4
10 |+ v blurrtogarr)
(Z DDOHRDIFE) "R 8
(FA-FBXHWROBE
LA IRATE S A S 155\7%?%27;;5 " ¢
(Z DR DIBE) 8
12 [ £ # I 14 % "3RI 1
13 | 4% T 4 %KL b~ i 4
I A - &3R5 4
15 | 7 v > a sHEE 1
16 |7 4 /X — U > J NBR FKM 1
17 | Ay KXy % > NBR FKM 1
18 | YUY 4Fa—THRFy b NBR FKM 2
19 [EX F>ixy %o NBR FKM 2
20 |@y R#AHZX4 v b NBR FKM 1
22A | Zyvazisyx (A) NBR FKM 1
22B | Vv ariiyx (B) NBR FKM 1
23A | 7 v ¥ a > hH N — FINE 2
23B [ = — K o N U J 3] 2
23C | F = v 7 N W T HHEE 2
23D | /N % 257 L 24 2
28E | F vy Uy x> NBR [ FKM 2
23F | @ v 7 F v b RIRER 2
23G | Vv arHRry b NBR FKM 2
23H | = — R ¥ v % > NBR FKM 2
231 | R7YrTA—LEY 3R 2
50 | 2418y K& > 7 el 1 %

"



CP691

CP691 - CP691H #i@[

ETER

5@ T — M
LB ¢40 ~ 250

(+18] Rl

NN

o F1—JHE:$80~250

LB

L(ILL+ZX hO— %) o] A
Q
F2 2-EE Fi B A (Zﬁm)
B
5 \ 1 1 MM
- e
A 8 4 ?ﬁ% =)
A - - T %. (=)
8|
= 2
7 3 =
W, Wi E
z[ Li(L+2wW) A2 -
|
o Fa1—TJAHER 463UTNDE X
I
EHRE A (2@rh)
- IF1I C MM
max.10 ($40~100) ] B A/ /S
max.17 ($125~250) b B
- . -7
) Dz =)
< 9
F 1y 7N T ($40~100)
Oy KAN—BIDH
4-4]) uu
By mm
89 ARSI THEETE
g-l_jmfa% LL C |*A A1 B Q B1 MM D |DD1 EE E F1 F2 N M NN | UU VA JJ TT H W1
¢ 40 97 [150| 20 | 17 |130| 17 | 10 [ M14Xx15| 20 | 45 Rc1/4 55 | 13 | 14 | 42 M6 X 1 10 | 40 | 15 | 10 4 40 | 30
@ 50 105|/160| 25 | 22 [130| 22 | 10 | M18X1.5| 25 | 50 Rc3/8 65 | 15 | 15 | 49 M8 X 1 12 | 45 | 15| 10 6 45 | 30
¢ 63 105|/160| 25 | 22 [130| 24 | 12 |M18X1.5| 30 | 60 Rc3/8 75 | 15 | 15 | 59 M8 X 1 12 | 55 | 15| 12 6 55 | 35
® 80 112|1160| 35 | 32 [130| 32 | 18 |M26X1.5| 40 | 76 Rc1/2 100 15 | 15 | 76 | M12x15]| 16 | 71 15| 15 6 60 | 35
¢ 100 112|170 35 | 32 [ 130| 32 | 18 |M26%X1.5| 40 | 85 Rc1/2 116| 16 | 16 | 90 | M12X15| 16 | 85 | 15| 15 6 75 | 35
¢ 125 121|170 35 | 32 [ 130| 32 | 18 | M26X1.5| 40 | 85 Rc1/2 143 | 18 | 18 |115| M14Xx1.5| 19 [ 100| 20 | 19 6 85 | 45
@ 140 135|/190| 50 | 47 [ 150| 41 20 | M36X%X1.5| 50 | 110| Rc1/2 160| 20 | 20 [125| M16X1.5| 23 [112| 25 | 24 9 |100| 55
¢ 160 135|/190| 50 | 47 [ 150| 41 20 | M36X%X1.5| 50 | 110| Rc3/4 176| 20 | 20 [142| M16X1.5| 23 |118| 25 | 24 9 |105| 55
¢ 180 145|/190| 60 | 57 | 150| 50 | 22 | M45%x1.5| 60 | 120| Rc3/4 198| 20 | 20 | 155| M20x1.5| 27 |132| 30 | 28 | 13 |125| 70
¢ 200 145|190| 60 | 57 |150| 50 | 22 | M45%Xx1.5| 60 | 120| Rc3/4 |220| 20 | 20 | 180| M20x1.5| 27 |150| 30 | 28 | 13 | 135| 70
@ 220 160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 | 130| Rc3/4 |242| 23 | 23 [190| M27x1.5| 36 |170| 40 | 35 | 13 | 150| 85
@ 250 160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 | 130| Rc3/4 |270| 23 | 23 |215| M24x1.5| 30 |180| 40 | 35 | 13 |160| 85
W) T s Fo MEESHEOB G, KEA RSB () EDEA) FTOTIESE S, GERINE 20— V% ZBHEC 1500,




ex to—srzsEvuvy CP691 vu—x
Ov FRIZS VIR FA
FA ¢40 ~ 250
[(#1E] KR
o Fa1—JAE: $80~250
NN L(LL+X ka—7%) c A 0
Fz 2-EE Fr B A| /(2mEmh)
_@ » ; " — ~ ‘I. "
e - . Y=
- 3 240y Ry Tt
AN
e F1—TJAE 463UTDE X
Q
KRR A e )
IL‘ c A MM
max.10 ($40~100) ; B B, A‘f
max.17 ($125~250) L 7
/ V -
7 W - ]l &
OE S ™
N 4-4J E
1,5
>
§Q | @<
=) 2 4
aE je 8
p
& g
Sysas 37 F 1 v 7750 7 ($40~100)
NILT 4-M Oy RAN—fIDH
BT mm
EW RIEEBTE THLETE
;l_ﬁq@ﬁa’:"’ LL C |*A A1 B Q B1 MM D |DD1 EE E F1 F2 N M NN V VvV E J T uu

¢ 40 97 |[150| 20 | 17 |130| 17 | 10 [M14X15| 20 | 45 | Rc1/4 | 55 | 13 | 14 | 42 M6 X 1 10 {100 80 | 65 | 9 | 10 | 40
¢ 50 105|160 | 25 | 22 |130| 22 | 10 | M18%x1.5| 25 | 50 | Rc3/8 | 65 | 15 | 15 | 49 M8 X 1 12 (110 90 | 65 | 9 | 10 | 45
¢ 63 105|160 | 25 | 22 |[130| 24 | 12 |M18X15| 30 | 60 | Rc3/8 | 75 | 15 | 15 | 59 M8 X 1 12 [130|112] 75 | 11 | 10 | 55
¢ 80 112|160 | 35 | 32 |130| 32 | 18 | M26X1.5| 40 | 76 | Rc1/2 |100| 15 | 15 | 76 | M12X1.5| 16 |150|125|100| 14 | 14 | 71

¢ 100 |112|170| 35 | 32 |130| 32 | 18 | M26X1.5| 40 | 85 | Rc1/2 |116| 16 | 16 | 90 | M12Xx1.5| 16 |185|155|116| 14 | 14 | 85
¢ 125 |121|170| 35 | 32 |130| 32 | 18 [ M26X1.5| 40 | 85 | Rc1/2 |[143| 18 | 18 [115| M14X1.5| 19 [220|185|143| 18 | 14 | 100
¢ 140 |135|/190| 50 | 47 [ 150| 41 | 20 | M36Xx1.5| 50 | 110| Rc1/2 |160| 20 | 20 [125| M16X1.5| 23 |255|212|160| 22 | 20 | 112
¢ 160 | 135|190 | 50 | 47 [150| 41 | 20 | M36Xx1.5| 50 |110| Rc3/4 |176| 20 | 20 | 142| M16X1.5| 23 |275|230|176| 22 | 20 | 118
¢ 180 [145]|190| 60 | 57 |150| 50 | 22 | M45X1.5| 60 |120| Rc3/4 |[198| 20 | 20 | 155| M20x1.5| 27 | 320 265|198 | 26 | 25 | 132
¢ 200 [145|190| 60 | 57 |150| 50 | 22 | M45x1.5| 60 [120| Rc3/4 |220| 20 | 20 | 180 | M20x1.5| 27 | 335|280|220| 26 | 25 | 150
¢ 220 |160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 |130| Rc3/4 [242| 23 | 23 | 190| M27x1.5| 36 | 400|335|242| 33 | 30 | 170
¢ 250 [160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 |130| Rc3/4 |270| 23 | 23 | 215| M24x1.5| 30 | 420| 355|270| 33 | 30 | 180

) O sy MEE TIREOS A, M A TESRDE ) VR R FTOTITEREC LS o GEfIE 20 "= 2 & T 7280




CP691

ETER

CP691 - CP691H #i@[

Ay MUT 52U
FB ¢40 ~ 250
[#1E5] BsReE

® F 21— 7 RiE:$80~250

FB

L(LL+X hO—%) C A
= Q
Fz 2-EE ! B A | /@)
!5 B B MM
" 4 %
I 1 /
A 8 4 f &
A - - gl a
‘Eﬁ'—_a
7 3 J.M\l
o F1—TJAE J63UTNEE
_Q
F, (2@h)
max.10 ($40~100) ' c A v MM
B A,
max. ~, :
£38E A 17 ($125~250) i B
S ST V - T
- Vs 5
/ OE 4-4J - j%
N
CIN
1,5
’ N, Inl—
SO~ 90
1 /\ f
| 2 41
wl 2 _
=) 6 \/ 8 \
1 1
1 ]
M /]
- Y .
37 F 1y 75T (440~100)
TJyar Oy KAN—BIDH
INIVT 4-M
BAT mm
8% AR ZE2ETE
;l—ngﬁa% LL C [|*A A1 B Q B1 MM D |DD1 EE E F1 F2 N M NN \ VvV E J T uu
40 | 97 [150| 20 | 17 [130| 17 | 10 |M14x15] 20 | 45 | Rei/4 | 55 | 13 | 14 | 42 | M6x1 | 10 |100| 80 | 55 | 9 | 10 | 40
50 |105|160| 25 | 22 [130| 22 | 10 |M18x15]| 25 | 50 | Rc3/8 | 65 | 15 | 15 | 49 | M8x1 | 12 |110| 90 | 65 | 9 | 10 | 45
63 |105[160| 25 | 22 [130| 24 | 12 |M18x1.5| 30 | 60 | Rc3/8 | 75 | 15 | 15 | 59 | M8x1 | 12 | 130|112 75 | 11 | 10 | 55
80 |112[160| 35 | 32 [130| 32 | 18 |M26x 15| 40 | 76 | Rei/2 |100| 15 | 15 | 76 | M12x1.5| 16 | 150|125 100| 14 | 14 | 71
¢ 100 |112]170| 35 | 32 |130| 32 | 18 |[M26x 15| 40 | 85 | Rc1/2 |116| 16 | 16 | 90 | M12x1.5| 16 | 185|155|116| 14 | 14 | 85
¢ 125 121|170 35 | 32 | 130| 32 | 18 | M26X1.5| 40 | 85 Rc1/2 143| 18 | 18 |115| M14Xx 15| 19 [220| 185|143 | 18 | 14 | 100
® 140 |135]190| 50 | 47 |150| 41 | 20 | M36x1.5| 50 |110| Rci/2 |160| 20 | 20 | 125| M16x1.5| 23 | 255| 212|160 22 | 20 | 112
¢ 160 135|/190| 50 | 47 [ 150| 41 20 | M36X%x1.5| 50 | 110 Rc3/4 176| 20 | 20 |142| M16X1.5| 23 |275|230|176| 22 | 20 | 118
¢ 180 | 145|190 60 | 57 |150| 50 | 22 | M45x1.5| 60 | 120| Rc3/4 |198| 20 | 20 | 155| M20x1.5 | 27 | 320| 265| 198 26 | 25 | 132
®200 |145/190| 60 | 57 |150| 50 | 22 | M45x 15| 60 | 120| Rc3/4 |220| 20 | 20 | 180| M20x1.5 | 27 | 335| 280|220 26 | 25 | 150
$220 |160|200| 70 | 67 |150| 63 | 25 | M56x 15| 71 | 130| Rc3/4 |242| 23 | 23 | 190| M27x1.5 | 36 | 400| 335| 242| 33 | 30 | 170
¢ 250 | 160|200 70 | 67 |150| 63 | 25 | M56x 15| 71 | 130| Rc3/4 |270| 23 | 23 | 215| M24x1.5| 30 | 420 355] 270| 33 | 30 | 180

i) Oy Mye TREOHE,

MEVA FEDERDPE (BHE) LVECRY TTOTIER LS,

GENE 20 X—= V% TBI 728 0,)




ex ro—sizsEvuvy CP691 vu—x
— I LVEZXR: CA
CA ¢40 ~ 250
(#1E] #8%
o F1—JAfE. $80~250
R L(LL4+X hE—7%) C A 0
Kml F, 2-EE B B A /amm)
1 i B
$DD "0 - \1 ! ' -
i = |
A i : 4 B 2l8

7
RR; \

$40~41001d, 21Oy R UiAH18E (CAL H)

N

o

e F1—TRE $IUTDEL X

Q
B &)
C A MM
max.10 ($40~100) B As
SEE A max.17 ($125~250) s B /f
CIN > 9
4-M
N =i
a1
2 4
6 e 8
@37@ F 1 v 77350 7 ($40~100)
7‘7:/3\//‘”/7 El-y bﬁ,{_ﬁ“o)&
BT D mm
fgﬁ AEERTE ZHEETE

F.—JRE~| LL | C [*A | A1 | B | @ | Bt MM D |DD1 EE E|F1l|[F2| N M NN |DD|[D1| R | T |[RR1| K

¢ 40 97 [160| 20 | 17 |130| 17 | 10 [ M14X15| 20 | 45 Rc1/4 55 | 13 | 14 | 42 M6 X 1 10|10 | 15| 35 | 12 | 11 15

¢ 50 105(160| 25 | 22 [130| 22 | 10 | M18%x1.5| 25 | 50 Rc3/8 65 | 15 | 15| 49 M8 X 1 1212|118 | 35 | 12| 13 | 18

¢ 63 105(160| 25 | 22 [130| 24 | 12 | M18%X1.5| 30 | 60 Rc3/8 75| 15| 15 | 59 M8 X 1 12|16 | 25 | 45 | 15 [17.5| 24

¢ 80 112160 | 35 | 32 [130| 32 | 18 |[M26X1.5| 40 | 76 Rc1/2 [100| 15 | 15 | 76 | M12X15| 16 | 20 |31.5] 55 | 18 | 22 | 30

¢ 100 112(170| 35 | 32 [130| 32 | 18 | M26X1.5| 40 | 85 Rc1/2 |[116] 16 | 16 | 90 | M12Xx1.5| 16 | 25 |35.5| 60 | 20 |27.5| 33

¢ 125 |121(170| 35 | 32 |130| 32 | 18 | M26x1.5| 40 | 85 | Rc1/2 [143| 18 | 18 |115|M14x15| 19 | 25 |355| 65 | 20 |27.5| 37

¢ 140 135(190| 50 | 47 [150| 41 | 20 | M36X1.5| 50 [ 110| Rc1/2 |160| 20 | 20 |125| M16X1.5| 23 [31.5| 40 | 80 | 25 | 35 | 40

¢ 160 135|190| 50 | 47 [150| 41 | 20 | M36Xx1.5| 50 | 110| Rc3/4 |176| 20 | 20 [142| M16Xx1.5| 23 |31.5| 40 | 80 | 25 | 35 | 45

¢ 180 145|190| 60 | 57 [150| 50 | 22 | M45%x1.5| 60 | 120| Rc3/4 |198| 20 | 20 [155| M20x1.5| 27 | 40 | 50 [100| 31 | 44 | 50

¢ 200 145(190| 60 | 57 [150| 50 | 22 | M45X1.5| 60 | 120| Rc3/4 |220| 20 | 20 | 180| M20x1.5| 27 | 40 | 50 [ 100| 31 | 44 | 50

¢ 220 160(200| 70 | 67 |150| 63 | 25 | M56X1.5| 71 | 130| Rc3/4 |[242| 23 | 23 | 190| M27x1.5| 36 | 50 | 63 | 125| 41 | 55 | 65

¢ 250 160|200| 70 | 67 |150| 63 | 25 | M56Xx1.5| 71 |130| Rc3/4 |[270| 283 | 23 [215| M24x15| 30 | 50 | 63 |125| 41 | 55 | 65

i) Oy sy MEe TREOHE,

MEVA SFEDERPE (BHE) LVECRY TTOTIER LS,

GENE 20 X— V% TBI L 72 50,)

15



CP691

CP691 - CP691H #i@[

ETER

I LVERR CB
CB ¢40 ~ 250

(+1H5] #Hx
e Fa1—7AE:$80~250
R LLL+ZX +A=Y) c A
KoiTte: 5, 2-EE P B A /(zﬁ—%ﬁ)
4DD g i B MM

I

NN ‘9- 8 i %‘%e

A m—

DD

e

7
RR: \ $40~ 41001t 21 Oy R UiA#18iE (CBE B) NN

e F1—THE $6LUTNLE

Q
2
e /B

EHRE A

|

max.15 e

LDJ
#DD;

377 '
PV EYZA Y

BT mm

’:’gﬁ BB i B 00

F.-TmR~s| LL | C [*A | A1 | B Q | B1 MM D [DD1 EE E |F1|[F2]| N M NN | DD | D1 | R T [RR1| Y K
¢ 40 97 |150| 20 | 17 |130| 17 | 10 | M14X15 | 20 | 45 | Rc1/4 | 65 | 13 | 14 | 42 M6 X 1 1010 | 15| 35|12 |11 |30 | 15
¢ 50 105|160| 25 | 22 |130| 22 | 10 | M18X1.5 | 25 | 50 | Rc3/8 | 65 | 15 | 15 | 49 M8 % 1 12112 |18 | 35| 12 | 13 |35.5| 18
¢ 63 105|/160| 25 | 22 |130| 24 | 12 | M18X1.5| 30 | 60 | Rc3/8 | 75 | 15 | 15 | 59 M8 x 1 12116 | 25| 45| 15 |[17.5| 50 | 24
¢ 80 112|160| 35 | 32 |130| 32 | 18 | M26X1.5 | 40 | 76 | Rc1/2 |100| 15 | 15 | 76 | M12x1.5| 16 | 20 |31.5| 55 | 18 | 22 | 63 | 30
¢ 100 |112(170| 35 | 32 [130| 32 | 18 | M26X1.5| 40 | 85 | Rc1/2 |116| 16 | 16 | 90 | M12X1.5| 16 | 25 |35.,5| 60 | 20 (27.5| 71 | 33
¢ 125 |121]170| 35| 32 |130| 32 | 18 | M26x1.5| 40 | 85 | Rc1/2 |143| 18 | 18 |115| M14x15| 19 | 25 |35.,5| 65 | 20 |27.5]| 71 | 37
¢ 140 |135[190| 50 | 47 |150| 41 | 20 | M36%x1.5 | 50 |110| Rc1/2 |160| 20 | 20 |125| M16Xx1.5| 23 |31.5/ 40 | 80 | 25 | 35 | 80 | 40
¢ 160 |135[190| 50 | 47 [150| 41 | 20 | M36x1.5 | 50 |[110| Rc3/4 |176| 20 | 20 |142| M16X1.5| 23 |31.5| 40 | 80 | 25 | 35 | 80 | 45
¢ 180 [145|/190| 60 | 57 |150| 50 | 22 | M45x1.5 | 60 | 120| Rc3/4 [ 198| 20 | 20 |155| M20x1.5| 27 | 40 | 50 |100| 31 | 44 |100| 50
¢ 200 [145|190| 60 | 57 |150| 50 | 22 | M45x1.5 | 60 | 120| Rc3/4 [220| 20 | 20 | 180| M20x1.5| 27 | 40 | 50 |100| 31 | 44 |100| 50
¢ 220 [160|200| 70 | 67 |150| 63 | 25 | M56X 1.5 | 71 |130| Rc3/4 [242| 23 | 23 | 190| M27Xx1.5| 36 | 50 | 63 | 125| 41 | 55 | 125| 65
¢ 250 [160]|200| 70 | 67 |150| 63 | 25 | M56X 1.5 | 71 |130| Rc3/4 |270| 23 | 23 | 215| M24X1.5| 30 | 50 | 63 | 125| 41 | 55 | 125| 65

) Ov sy MEE TIREOS A, MM A TESERDE () LVEC R FTOTITERECLS v, e GEfIE 20 "= 2% T 72 80)




RA KO-

\\\

ZERE

~

v

vyy CP691 vu—x

—_—
FS=F R TC
TC ¢40 ~ 250

-
(#1E] #HEk
o F 11— JHRE: $80~250
NN L(LL+ZX bO—9) c A
Q
Fa e 2-EE Fr B Al /(emmh)
5 l N Bi MM
el e 1 [
I F 1]
AN _|s N 4 of 8
N ﬁ_'_i-ﬁ
: =: 5
! 1
& 3
S R
I
o Fa1—TAE $63LUTNE X
Q
. )
i (¥ A MM
! B Bl A4/~
f
|_| PZ ‘L| l
max.15  [JE o g
LIN Bad B
1,5
Cl r - IE
O)—_N\
D—§§ 2 4
EONEN 6 8
am /37
JyaINIvd
B mm
Eg"} AARERT i XHEETE f‘Ti\Tf fTi\‘_f
11—7’W{§ﬁ% LL | C [*A | A1 B Q | B1 MM D |[DD1| EE E |F1|F2| N M NN | G P | P2 | L1 X [ XX| r |s&|R&
¢ 40 97 [150| 20 | 17 [130| 17 | 10 |M14X15| 20 | 45 |Rc1/4| 55 | 13 | 14 | 42 M6 X1 10|22 |58 |65 |18 |16 |26 |1.5]| 49 | 47
¢ 50 105|160| 25 | 22 |130| 22 | 10 |[M18X15| 25 | 50 |Rc3/8| 65 | 15 | 15 | 49 M8 X1 121287080 |18 |16 |26 |1.5| 58 | 51
¢ 63 105(160| 25 | 22 |130| 24 | 12 |[M18X15| 30 | 60 |Rc3/8| 75 | 15 | 15 | 59 M8 %1 12128 |84 ({10022 |20 |30 | 2 | 58 | 51
¢ 80 112|160| 35 | 32 |130| 32 | 18 |[M26%X15| 40 | 76 |Rc1/2|100| 15 | 15 | 76 | M12Xx15 | 16 | 32 [104|112| 28 | 25 | 35 |25 | 60 | 53
¢ 100 |112(170| 35 | 32 [130| 32 | 18 |M26X1.5| 40 | 85 |Rc1/2 116|116 | 16 | 90 | M12X15| 16 | 37 |124|136|33.5(31.5| 44 |25| 69 | 62
¢ 125 [121(170| 35 | 32 [130| 32 | 18 |(M26X1.5| 40 | 85 |Rc1/2 (143 |18 | 18 |115|M14X15| 19 | 40 |160(170|33.5(31.5| 50 |25 | 72 | 65
¢ 140 |135(190| 50 | 47 [150| 41 | 20 |M36X%1.5| 50 |{110|Rc1/2 [160| 20 | 20 |125|M16X15| 23 | 45 |180(180|37.5(35.5| 60 |2.5| 80 | 73
¢ 160 [135[190| 50 | 47 [150| 41 | 20 |M36X1.5| 50 |110|Rc3/4[176| 20 | 20 |142| M16X1.5 | 23 | 45 |200 (200 |37.5(35.5| 60 |[2.5| 80 | 73
¢ 180 [145(190| 60 | 57 [150| 50 | 22 |M45%1.5| 60 |120|Rc3/4 (198 | 20 | 20 |155|M20x1.5| 27 | 50 |220(224|50 |45 |60 | 3 |86 | 75
¢ 200 |145|190| 60 | 57 |150| 50 | 22 [M45x15| 60 [120|Rc3/4|220| 20 | 20 [180|M20x15 | 27 | 50 (240|250 50 |45 |60 | 3 |86 | 75
¢ 220 |160|200| 70 | 67 |150| 63 | 25 [M56Xx1.5| 71 |130|Rc3/4|242| 23 | 23 [190|M27X1.5 | 36 | 70 [270|290| 60 | 56 | 80 | 3 [105| 90
¢ 250 |160|200| 70 | 67 |150| 63 | 25 |M56x1.5| 71 |130|Rc3/4|270| 23 | 23 |215|M24x15| 30 | 70 |300|315| 60 |56 |80 | 3 |105| 90

) Lavy sy MEe THEEOYE,
2.8, RO TR R WIHEIES=R £ 42 ) 9

KEDA PR (BEHE) X DR R FTOTIEEL LS,

GEIIE 20 =V % TBI 728 0,)

17



CP691

CP691 - CP691H i@

B E H /) — D1 S 5 HA

- |
BREE /N — DETHEE
| (1) ¢ 40 ~ 100 |(2) ¢ 125 ~ 250
FHIAZET A NFIT X NI P THEELE T, FHIATETXANGITINTIN FTEELE T,
ATy Ry NI CHY MXTTREIEL,C 7F b X7 ATy Ry NFE C AP AT TREZEL, C ¥ R X7
LV NGORIZIZ O TR FALE T, LUXYNSORMIIZO U 7 EFALET,

DO

\L};ﬂ | —
TS S

Oy KA/N— LA

& = HE % EiERE = BE
30 TyINT 1 30 TwINT 1
31 CHEIAT 2 31 CHEIAT 2
32 o>y 1 32 oy 1
34 THINTINK 1 34 THINTINCR 1

BIEH/N—MEEREDH XY

= i MR E
Name Heat resistance
o007 L > . .
CHLOROPRENE {EHMEWERE 1207C

RDV7IFRF782R TG, SRR - TREMEATTRAE S

POLYAMIDE CLOTH FEAMHEE 200°C
=<8 4 41 N
7 s SLomt ARBAER 4000

ALUMINIZED CLOTH

B E{ERMEEE 600C
1) 100C£ B2 BEATOEANBEICE, F-ENTHREREL LT,




ez ro—sizsEvuvyy CP691 vu—=x

CP691 - CP691H i@

PhEAN— - BT AR

Dimension with dust cover

I ot PA . .Tﬁi‘\i BT :mm
F1-IJRE: $40 ~ 63 Fa—TRE Z hO—2 JC JB MM A
601 ~ 800 330
® 40 45 M14X1.5 20

801 ~ 1,000 380

601 ~ 800 330
¢ 50 801 ~ 1,000 380 50 M18x1.5 25
1,001 ~ 1,200 420

601 ~ 800 330
\ JC A ¢ 63 801 ~ 1,000 380 60 M18 X 1.5 25
1,001 ~ 1,200 | 420

801 ~ 1,000 | 320
o 80 1001 ~1,200 | 880 | oo M26% 1.5 35
= 2 ¢ 1,201 ~ 1,400 | 380 '

1,401 ~ 1,600 410

801 ~ 1,000 320
¢ 100 1,001 ~ 1,200 350
¢ 125 1,201 ~ 1,400 380
1,401 ~ 1,600 410

MM

105 M26 X 1.5 35

801 ~ 1,000 350
1,001 ~ 1,200 380
1,201 ~ 1,400 420 135 M36 X 1.5 50
1,401 ~ 1,600 450
1,601 ~ 1,800 480

¢ 140
¢ 160

1,001 ~1,200 | 370

1,201 ~ 1,400 | 400
I Fa1—-JAE : ¢80 ~ 250 2;38 1,401~1600 | 430 | 145 | M45x15 | 60
1,601 ~ 1,800 | 460
1,801 ~2,000 | 490

1,001 ~ 1,200 380
1,201 ~ 1,400 410
1,401 ~ 1,600 440
1,601 ~ 1,800 470 160 M56 X 1.5 70
1,801 ~ 2,000 500
2,001 ~ 2,200 530
2,201 ~ 2,400 560
ffffffff W) RSO A h O =2 12on TGRS VAR & W,

¢ 220
¢ 250

MM




CP691

o - CP691 - CP691H £3&[X
O RkEiEEE " FES '
Oy REiEEE JEHEE S ICDWTIE.CATN02222 [NE—F 1 —F7 I T7 I A h207 # TSRS,

[—|:| woFwy I‘ﬁ-] Dimension with luck nut

OTIGEITL Y. Y- TSROy o <% .
Fo N GH) EMRG:LET. B RE % e
DOy s Fy MBI T TR 280, SAERITE Fa—JRE] A e i
HHZIRO R WHEE, Ty 2 )y MIK ¢ 40 32 59 +3 8
Bz LR AG) i a S SDiBe S 50 4 | e7x3 | 11

O ) youy FERALES (A & | YRORE TR PORS R 2 =

B ) Yy EDLRER) . (HE : $63 | 40 | 72%3 | 1
AT AR IR IS ) T ¢ 80 54 | 87+3 | 16
%g‘??ﬁ;? }Et\ AERE SHROBGI AN $100-125| 54 | 92+3 | 16
A RN Z o
Ou v /)y MIOHE, Y - TREEHER ¢ 140-160) 70 | 1273 | 21
ORI E D *S” FHENTEY B L A ¢ 180-200| 85 | 158+3 | 27

TLEE W, -
O+ MO, HE RO A %E $220:250| 105 | 200+3 | 34
RUEET: LT A

CP691 : CP691H HiE[X
$ A '

CATNo.2224 [TT7 ") L 4 H& FitiER 40T & ZHRIZE W,



ez ro—spzsrEvuyy CP691 vu—=x

2 REE |
BESEN  SmBE=0YV VIR F+OBEFTTYay
E E § BT kg
PR s @QEKA T3>
F2—THE 9 el %48 a8 540y K
LB |FA-FB| CA CB TC Y I Y7
¢ 40 0.0053 X S + 3.5 022 | 027 | 034 | 034 | 030 | 012 | 013 | 0.21
® 50 0.0079 X S + 5.0 033 | 034 | 047 | 046 | 049 | 019 | 022 | 0.39
¢ 63 0.0108 X S + 6.9 048 | 046 | 090 | 084 | 065 | 037 | 037 | 048
® 80 0.0179 X S+ 12.0 059 | 097 1.71 1.72 110 | 069 | 0.71 1.05
® 100 0.0191 X S+ 16.2 0.90 140 | 255 | 255 1.89 1.26 1.17 1.52
¢ 125 0.0281 X S + 22.1 1.3 25 3.3 3.4 2.8 1.26 117 | 257
® 140 0.0387 X S + 34.4 25 4.1 5.3 5.4 35 o5 30 3.11
® 160 0.0376 X S + 39.4 2.8 5.4 5.9 6.1 4.3 3.97
$ 180 0.0552 X S + 51.9 55 9.3 9.7 10.2 5.6 49 53 5.31
$ 200 0.0641 X S+ 61.0 6.3 11.3 11.0 10.9 6.8 7.26
® 220 0.0805 x S + 80.7 9.4 18.0 19.6 18.9 14.0 0.7 106 13.0
¢ 250 0.1030 X S + 97.2 10.1 220 | 228 | 222 136 14.4

) L SR o= (dfn) ZRL0 9,
2. LBEHE 24 ) ORRERLET

B REOFEECDNT

1. {REEHARS
ER% 1258, KIEUMAR 185 BZEBREVHRE LE T,

2. (RIS
HEFeld. REOHEROZR/RETINEAEELEI,

3. (REIREEIR

OEAYTE - BN AN OISR ISR BIREANN TR
FBHTEICKDEUAES,

@K S ZIL E B DERISER UV KFICKDE UTEIEE,

@ TDMEEEDERLHESNFVNC LITERT DHIENUIEE.

@M ARMOWE - FESICKDFERSINES.




PR EH AR XS o RIS

WRXIE  T108-0014 B03-3454-1711 Km / IVIEI\!IT. N
HREHBRXE4-7-8 ETHTVEL RvA C024
KBRZE  T530-0012 206-6373-6701
KRR ZHI-1-4 BREZ—IFIVEIL  smpmzm;  ®022-215-1195
mEEXIE  T732-0052 2082-568-0071 TZEEXPF  B043-305-1401

S R MemT LS timEHRAT  B011-792-7451
[RSMREER-12-20 4 UILBRRTEL o ehw s 10525816541

E B & T663-8133 ©0798-48-5931 iR  ©076-233-1411
s L HERHET4-97 SWME¥R  8087-835-0411 2015.05.

NS 2082-568-0071 CDAYOTBFELSUICHEIT DI ENBDEFITDTTTELLEE L,

\ URL=https:/www.konan-em.com/ \ EAMEER B093-541-0281 2023.11-1 kg (D2) -K




	01
	02
	03_
	98
	99

